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(143)
SZENE NS
Sg =8y — Spyy = 2400 m —2000 m =
400 m(1 43)
GG AE RR B s 1T 0
$3 = S — S4 = 2000 m - 400 m =
1600 m(1 43)
G4 AR RE 1B s AT B B T

$3 1600 m_qp S(149)

B, T 20 m/s

PE R AL 7 o Hoph A BEA R
¥ 2 B0y

fitk: (1) IR

V=V, = X

_ 0.5kg

pr  1.0x10° kg/m’

x10 7" m’ (2 43)

(2) BT 2E i e ), W 28 P AR

Vige =V =5x10""m’ (1 4})

e 2238 A )

Mg e :pﬂégﬁVﬂég =1.8x10° l<g/m3 X

5x10™* m’ =0.9 kg(2 %)

(3) 236 PP s T A R

Myg =my —my, =0.7 kg —0.3 kg =

0.4 keg(143)

Jir s I Y 5%
0.4 kg 3 3

= T g0t s =0-8 %107 ke/m

(247)

PRI AL 8 7 A HA S I 2Ry

SR ST

(1) IR B AL 2] T 25488

32

(2)B 3.40 (3)228.7

(4)/h WK

=N A S = g B S <

A A RS RS

(Hb W ()4 K BE

(B)KRE (4=

A A RIS IR

(DA (3)71.2 (4)40

(5)1.19

(6) KT BWMHNIAFTTREA, T

EUARFL I 2 /)

% 88 |

M _

P

W

~



(7) B HIFR B8 A= W5 Y S o

5 A RIS R 5)
21.(1)10.0 (2)45/ (3)34 Jitk

(4)® D (5A

& A RIS R 5),

WRZARIN ()

l.izsh A 2.zshtfg  km/h

3.8Rk8 B 4.tk &

5. Yy 6. 4rhhk &

7.495/ B 8.a 1:4

9.D 10.C 11.B 12.A 13. ABD

14. BC

15.%’4’:;(1)t:40min:%h(1ﬁ})
TR
v:%:6gkm:90km/h(2ﬁ’)

Zh
3

() ANHEWMEERN 8 L, Ir IR 4

1 60 km F4) SR BT T AE B9 7RI AR FR

8 L
V =60 kmxlOOkm_4.8 L =
4.8 dm’ =4.8 x10 > m’ (2 4})
THAER YR BT i

m=pV=0.7 x 10> kg/m’ x 4. 8 x
107 m’ =3.36 kg(2 43)
W RS T 43 A HA A FRE 5
IS5 57

16. fifF: (1) LA 1 m/s {3 5] A7 3
240 m, it FH I [A]

$; 240 m _540 (243

b T s

(2)t, =2 min =120 s
/INBH 2D B
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(3) M Z LI 8 m/s i J& 45 1T
5 min J@ i 1Y FE R
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0.4 kg(14%)
R

_ M _

0.4kg 3 3

P = % —5 )(10_4 m3 =0.8 x10 kym
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